
  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

HARDWARE

5/8” x 2” Grade 8 Bolt Set
Part Number: MT-HA-BS-5/8-2-G8
Weight: 0.35lbs (0.16kg)

Weight: 0.40lbs (0.18kg)

Weight: 0.60lbs (0.27kg)

Weight: .75lbs (0.34kg) -not certified

Weight: 3.0 ounces (0.085kg) -not certified Weight: 0.0 ounces (0.000kg) 

Weight: 3.0 ounces (0.085kg) -not certified

Weight: 0.75lbs (0.34kg)

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

5/8” x 2.5” Grade 8 Bolt Set
Part Number: MT-HA-BS-5/8-2.5-G8

5/8” x 5” Grade 8 Bolt Set

1” Pin

Cotter Pin Hoist Ring

Roll Pin

Part Number: MT-HW-BS-5/8-5-G8

Part Number: MT-HW-P-AS-0300-0100-0106

Part Number: MT-HW-P-CP-0448-0012-0110 Part Number: MT-HW-BT-LHS-ALN-06-00-0109-134-0100

Part Number: MT-HW-P-RP-0200-0016-0109

5/8” x 7” Grade 8 Bolt Set
Part Number: MT-HW-BS-7/8-5-G9

Issue Date: 10/12/2017



  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-0432-0000-032-
000-ST-128-02

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 11/08/2017

2-Hole 1/2”-13 Nut Bar
Part Number:  MT-HW-NB-0432-0000-032-000-ST-128-02

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): N/A

Size: 1.25” x 4.50” x 0.5” (31.75mm x 114.30mm x 12.70mm)

Weight: 0.75lbs (0.34kg)

Hole Size: 1/2”-13 Threaded 

Recommended Hardware: 1/2”-13 Thread Grade 8 Bolt, 1” Long   |   1/2” SAE Zinc-Plated Washer

Recommended Tools: ModTrussTM Tool Kit 1  |  3/4” Combination Wrench

Associated Products: ModTrussTM EX | Extrusion Series

See more at: ModTruss.com



Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-0432-0000-032-
000-ST-128-02

2X
 1

/2
-1

3 
Ta

pp
ed

 H
ol

e

 
19 .7

5
 

 
76 3.
00

 
 

19 .7
5

 

 
11

4
4.

50
 

 
13 .5

0
 

 
32 1.
25

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
04

32
-0

00
0-

03
2-

00
0-

ST
-1

28
-0

2

2-
HO

LE
 1

/2
"-1

3 
N

UT
 B

A
R

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Issue Date: 11/08/2017



  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-0432-0000-032-
000-ST-132-02

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 11/08/2017

2-Hole 5/8”-11 Nut Bar
Part Number:  MT-HW-NB-0432-0000-032-000-ST-132-02

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): N/A

Size: 1.25” x 4.50” x 0.5” (31.75mm x 114.30mm x 12.70mm)

Weight: -

Hole Size: 5/8”-11 Threaded 

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 1” Long   |   5/8” SAE Zinc-Plated Washer 

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: ModTrussTM EX | Extrusion Series

See more at: ModTruss.com



Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-0432-0000-032-
000-ST-132-02

5/
8-

11
 T

ap
pe

d
 H

ol
e

 
19 .7

5
 

 
76 3.
00

 
 

19 .7
5

 

 
11

4
4.

50
 

 
13 .5

0
 

 
32 1.
25

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
04

32
-0

00
0-

03
2-

00
0-

ST
-1

32
-0

2

2-
HO

LE
 5

/8
"-1

1 
N

UT
 B

A
R

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Issue Date: 11/08/2017



  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-1032-0000-032-
000-ST-128-04

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 11/08/2017

4-Hole 1/2”-13 Nut Bar
Part Number:  MT-HW-NB-1032-0000-032-000-ST-128-04

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): N/A

Size: 1.25” x 4.50” x 0.5” (31.75mm x 114.30mm x 12.70mm)

Weight: 0.75lbs (0.34kg)

Hole Size: 1/2”-13 Threaded 

Recommended Hardware: 1/2”-13 Thread Grade 8 Bolt, 1” Long   |   1/2” SAE Zinc-Plated Washer

Recommended Tools: ModTrussTM Tool Kit 1  |  3/4” Combination Wrench

Associated Products: ModTrussTM EX | Extrusion Series

See more at: ModTruss.com



Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-1032-0000-032-
000-ST-128-04

4X
 1

/2
-1

3 
Ta

pp
ed

 H
ol

e

 
19 .7

5
 

 
76 3.
00

 
 

76 3.
00

 
 

76 3.
00

 

 
26

7
10

.5
0 

 
13 .5

0
 

 
32 1.
25

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
10

32
-0

00
0-

03
2-

00
0-

ST
-1

28
-0

4

4-
HO

LE
 1

/2
"-1

3 
N

UT
 B

A
R

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Issue Date: 11/08/2017



  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-1032-0000-032-
000-ST-132-04

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 11/08/2017

4-Hole 5/8”-11 Nut Bar
Part Number:  MT-HW-NB-1032-0000-032-000-ST-132-04

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): N/A

Size: 1.25” x 4.50” x 0.5” (31.75mm x 114.30mm x 12.70mm)

Weight: -

Hole Size: 5/8”-11 Threaded 

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 1” Long   |   5/8” SAE Zinc-Plated Washer 

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: ModTrussTM EX | Extrusion Series

See more at: ModTruss.com



Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NB-0432-0000-032-
000-ST-132-02

4X
 5

/8
-1

1 
Ta

pp
ed

 H
ol

e

 
19 .7

5
 

 
76 3.
00

 
 

76 3.
00

 
 

76 3.
00

 

 
26

7
10

.5
0 

 
13 .5

0
 

 
32 1.
25

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

HW
-N

B-
10

32
-0

00
0-

03
2-

00
0-

ST
-1

32
-0

4

4-
HO

LE
 5

/8
"-1

1N
UT

 B
A

R

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

Issue Date: 11/08/2017



  
 

Part Number:

Series: Hardware

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-HW-NT-09-0120-
124-0032-0100
Issue Date: 11/08/2017

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): N/A

Size: 1” x 1.5” x .50” (25.40mm x 38.10mm x 12.70mm)

Weight: 0.20lbs (0.09kg)

Hole Size: 3/8”-16 Threaded

Recommended Hardware: 3/8”-16 Thread Grade 8 Bolt, 1” Long   |   3/8” SAE Zinc-Plated Washer

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: ModTrussTM EX | Extrusion Series

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

3/8”-16 Insert Nut
Part Number: MT-HW-NT-09-0120-124-0032-0100




